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Agency
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S/N

0006 E

Alcohol Testing Program

Date In l/f//

Date Qut I!Zl Mship Op/u QH/D Qcmi QEE

Intake performed By T ¥ ) Quality Checks  Performed By S Flow Calibration Perfor%g By sis s
J, Registration e & Breath Tube Screen ﬁ Flow Calibration N/A
EI/ Annual & Replace O-Rings U Flow Calibration Complete é\/l/
Return from CMI ﬁ Instrument Set Up Verified Flow Column # SO
CI Return from Enforcement @ R-value 2|5 Q si/mip-17mm " /g
Electronics ? Flow Verification (L/s) Q  15L/min mnﬁ‘o 2@/;
Q Other Flow Column #__ ATEP105 O 30L/min —10?@3}14
Visual Inspection: 32mm _ & f (.139-.169) | O R-Value 9,0
” Case % Handle 36mm /1T (.156-.190) | @ Post Calibration Verlficatuon?.Q[g
Dry Gas Holder _Q:C Feet 53mm .50 (228 -.278) Flow Column #
%Keyboard/Piug ﬂ_ Back/Plugs 103mm 5 1‘7 (.447 - .547) 32mm (.139 - .169)
ﬁé Screws tight _“A Breath Hose Barometric Pressure CheckCj \&a7 36mm (.156 -.190)
Gauge ID# UGB F: o1 53mm (.228 - .278)
Other Equipment: Stability Checks 103mm (.447 - .547)
a Power cord 'Simulator | Serial # Lot #/Exp
O Printer Cable 0.05 ; JO1le 030D ]| | Maintenance Performed By
o Other ﬁmﬁc &0\ 503902 %?—l‘?— 5 O Battery Replacement
) 0.08 _ A dolleDiIF || Q@ Dry Gas Regulator Replacement
SD3TGY -2 -5 || Q Breath Tube Replacement
Notes: 0.20 fe w49 wel | @ Other
5039353 Ltt? 1‘,’? -[{g Suggested Service
0.08DGS | N/A AGle2llts
q-23-18
Optical Bench Calibration Performed By <1 Department Inspection Performed By &1
QO Optical Bench Calibration N/A (020 —\| 13 BF ; Barometric Pressure {020 Gauge
@ Optical Bench Calibration Complete F324T o# & qag \ 020 Instrument
Barometric Pressure Gauge (02] _ ID# 25 lolo?d
Simulator | Serial Number | Lot Number | Expiration | | Mouth Alcohol Solution Lot # Xoik-A
0.000 SD1O W N/A N/A Acetone Stock Solutlon Lot # 01— B
0.040 5DIWZY T 1-2-1% Simulator Serial Nt{f}ber
0100  [$D1013  [100l | 5-5-1S ||t Qav50
_ nterferent G2834
0.200 DP’?)Z‘)-(_G' 1&\06 (g -\1 ! 0.05 5D96iuﬂ
0.400 Ga403 [ 1w\wR [ 3-92-13 ||[oos 50394
0.080DGS | N/A 034150500 3-5-177 || [020 SD3T3HS
§  Post Calibration Stability Checks
Simulator Serial Number | Lot Number | Expiration Attachments
0.05 SD39¢ 2 AOIte 03D [3-F-18 8L Formal ¥ Optical Bench Cal x 3
0.08 S0349¢yY  |ROIWbIF | -3l -18 B Pre-Stability Tests B Post-Stability Tests %3
0.20 D35 20 (0O4C [{-5-(8 O Flow Calibration Q Other
0.08DGS | N/A AGLALLo5 | 4-29- (S
Notes: CALIBATNON DRATA SAME TOR @ Instrument Complies with Chapter 11D-8, FAC
RLL 3 CAlLS {,L,[ EXCE p"\u OF AR RLMETICQ] O Iinstrument Does Not Comply with Chapter 11D-8, FAC

Plessunre Forr 3* 0L NOTED BRNE SH.
“PeZFo(UMNED OPTLAL RENCH CAL T BRING
PRALOMERIC PRESSULE VALUKES CUOSER TO

@ Return to/Place into Evidentiary Use
O Remain Out of Evidentiary Use

ﬁ. Conduct an Agency Inspection Before Evidentiary Use

DO LNAL . P (;.(\ Kufd
AP fiehbone” Wefrz
Quality Control Review Date

Revised November 2012
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